p vl 1
Rk 294 JE
ﬁ I}'}"I ;|= > . s\_ [N A
BAEPERNL—TR—ILEFIEKXRE
o e _ s Rm R S A AR PHER MK TS
H B
B1H<HAE> Frk294 5H 14H (H) KB 8S8HEO 0
R &k 84 5%
B 2 X 9W; 0 0%
A B b 9WF 1 0%
FLo2H<BL> Fk294% 5H 20H (1) KEAEBEE SO0 04
BB 2 iR 84 5%
A B iR 9HF 0 0%
2 ¥H1H (5/14)
L ¥ N TIAYAL DA R 5y o SR i W S ARV AR Wi B SE S S
i AN TIRVAD IR = S el o 3 I RN TH ST HER A R
O SRR I /NI ERVAR T | e o (e = S 3
BN Sz KZEE 2 m e A T S AR B AR

i FIRVAR. DIt R ag oy

LE I IRV e e 2 oy

BN TS B R 2R

T I TIVAL S IS8 oy
®2H (5,/20)

BT WS T LR R 2T A T YL I
L WRERER AL R LR
TR RPN L — R — L R
Z D
- HERERIIARMBE 10 E2 D, Yr ha— LIt Ab,
AENEFT 5/, AFMEE L1 55ME 5.
2 TR, 30N0MOKEMERY, Z0%1 0NMOARMBICAL,
Fo LB RHEPLOHEBORUBIREABTCABELAE V., K& 2
BHIEBWC bMEEE T 5.

XAREEKITHONWT

- 1HBHORABGHKIZT, #F—20R/FLHFEV LT L, 2=V —TFPBFTENVT |
ZFINYDONTHEDO N F—R—N LT+ 5,

- 2HAORAKIT, KEAMTHET S,




B 1% B
¥ 1H (5,/14)
EED)
. W TR IGE EIEIEE N
P WA Ve L K Hh K TG
e P e S (B 1 o) (N ) (B A ) (b & v)
m*iég ﬁ%*i’%%ﬁ *Tﬁ\— Eﬁ%% E“I%ﬁj
& - (% ) (R #& ) (& 4 ) SWEX:D
%*Uém EE}%Q Zﬂﬁﬁ%—g EEBEH‘H_/JA ?Eﬂéﬁa
= (% ) CHh )1 7E) (& &%) (b 1% 5 )
PR T JF T Rt M E = F W s PN
=7 () (9T o) (8| ) (KB )
(£ 7))
. W W 7 R T TEIES
@ % B o V& ¥ & A B & IS CIEREDN
e P e = (4% P ) (I 4% W) (s & H) (N )
P N NETR & JF B N R A
= (J& ) (7L 78 1) (B A H) (45 3F )
S W JE Prm i ik W R R K HE =
= i mi s ) | (o de ) (8B H) (fH 285 o)
PR AR % IR T P = 4 H E =
=7 (W 7 o) (e fs B ) | (b de &) (# M F)
2 5 IR L L e )1
e = = (A B 1) () 3 ) (W H) (%5 3 )
- o E R HhdH B [ ML= H oo 2k
& - (RAEBESD) | (AN EF) | (KA H) (& &%)
F— BOK /K WARE 2 IR 65 <F U5 o W
= (BB %) (K & ) (=4 B H) (e R )
PR EEE D R AL TS A
=7 (¥ 3 ) (ZHE—) | (FHERT) (%) )
®2H (5,/14)
GER I T
2 5 N T B P
o e 5 T w | m
s (15 o) %ﬁ%ﬁ)
o . e M & -
B % B (K 1) (A B i)
. 7 I % = 7% B —
i (7 % ) (i 55 )
W EE FHER D ZMEShZFHA
P TN o F
=% 2T CHE P o ) (2 B o)
S EEEY
___________________________________________________ e =
) (& 7Y
F1RESDOF — A 8 : 00~15 FT1RESDOF — A 8 : 00~15
wH2HEDF — A 1 5~30 wH2HEDF — A 1 5~30
I3RS DTF — A 30~45 T IREDF — A 30~45
_____________________ =5y 2 B
)
FH1HREOF— A 8 : 00~8:20
B oREDTF — A 8 :20~8 :40




